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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Comparison Of Quantities Questions Overview

Comparison Of Quantities Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Comparison Of Quantities Questions.

Comparison Of Quantities Questions

Directions: Each question below contains a statement followed by Quantity A and Quantity B. Find both to find the
relationship among them. Mark your answer accordingly.

Question

Set T consists of all the three-digit numbers greater than 450 that contain the digits 9,6 and 3 with no digit repeated. A.
The number of 3 digit nos. inset TB. 4

Difficulty : Moderate Average Time: 45 Seconds

Options :
. Quantity A > Quantity B
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. Quantity B > Quantity A
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Quantity A = Quantity B or Relation cannot be established

Solution

The correct answer is Option 3 i.e. Quantity B > Quantity A
A: T = {639, 396,369}

n(T) =3

But in B, the quantity is 4. So, Quantity of B > A.
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